Proposal of <u>Utility Safety and Design, Inc.</u> (hereinafter called Bidder), organized and existing under the laws of the State of <u>Illinois</u> doing business as <u>USDI</u>. To **City of Salem** (Hereinafter called Owner). In compliance with your Instruction for Bidder, Bidder hereby proposes to perform all Work for the <u>2023 Gas Line Improvement Project (FY24)</u>. Project in strict accordance with the Contract Documents, within the time set forth therein, and at the prices stated below. By submission of this Bid, each Bidder certifies, and in the case of a joint Bid each party thereto certifies as to his own organization, that this Bid has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this Bid with any other Bidder or with any competitor. In submitting this Bid, Bidder represents that:

- A. Bidder has familiarized itself with the nature and extent of the Bid Documents,
 Work, site, locality, and all local conditions and Laws and Regulations that in any
 manner may affect cost, progress, performance or furnishing of the work.
- B. Bidder has correlated the results of all such observations, examinations and investigations, with the terms and conditions of the Bid Documents.
- C. Bidder has given Engineer written notice of all conflicts, errors or discrepancies that he has discovered in the Bid Documents and the written resolution thereof by Engineer is acceptable to Contractor.
- D. This Bid is genuine and is not made in the interest of or on behalf of any undisclosed person, firm or corporation, and is not submitted in conformity with any agreement or rules of any group, association, organization or corporation; bidder has not directly or indirectly induced or solicited any other bidder to put in a false or sham bid; Bidder has not solicited or induced any person, firm or

B-1

corporation to refrain from bidding; and Bidder has not sought by collusion to obtain for himself any advantage over any other bidder or over the OWNER.

E. Bidder will not discriminate against any employee or applicant for employment because of race, color, religion, sex, age or national origin in connection with the performance of the work.

Bidder hereby agrees to commence Work under this contract on or before a date to be specified in the Notice To Proceed. *Contractor shall complete replacement concrete work within 30 days of that section of pipeline work.*

BID SCHEDULE

DUE DATE: May 11, 2023 OWNER: City of Salem, IL

PROJECT: 2023 Gas Line Improvement Project (FY24)

Circle/Lakeview Drive

No	Item	<u>Unit</u>	Quantity	Price/Unit	<u>Total</u>
1	Install 2" PE Main (Bore)	L.F.	5,000	\$17.00	\$85,000.00
2	Install 1" PE Service (Bore)	L.F.	130	\$14.00	\$1,820.00
3	Install 1/2" PE Service (Bore)	L.F.	5,800	\$14.00	\$81,200.00
4	Install New 2" PE Valves Complete	EA.	4	\$550.00	\$2,200.00
5	Install Meter Set Assembly & Service Tap	EA.	43	\$1,100.00	\$47,300.00
<u>6</u>	4" Line Stop	EA.	1	\$2,700.00	\$2,700.00
7	3" Line Stop	EA.	1	\$2,500.00	\$2,500.00
<u>8</u>	Sewer Locate	EA.	43	\$400.00	\$17,200.00
<u>9</u>	Retirement of Old Main/Services via Flaring to	EA.	1	\$4,500.00	\$4,500.00
	Approx. 0 psi				

TOTAL: \$244,420.00

Two Hundred Forty-Four Thousand, Four Hundred Twenty DOLLARS

(Total Bid Amount is to be shown in both words and figures. In case of discrepancy, the amount shown in words will govern.)

Proposal of Utility Safety & Design, Inc. Address: 1927 Miller Dr. Olney, IL 62450

The above unit prices shall include all labor, materials where applicable, demolition, removal,

overhead, profit, insurance, etc., to cover the finished work of the several kinds called for.

Bidder understands that the Owner reserves the right to reject any or all bids and to waive any

informalities in the bidding.

The Bidder agrees that this bid shall be good and may not be withdrawn for a period of forty-five (45) calendar days after the scheduled closing time for receiving bids. Upon receipt of written notice of the acceptance of this bid, Bidder will execute the Construction Agreement attached, deliver a Surety Bond or Bonds as required by Article 22 of General Conditions and Insurance requirements as indicated by Article 21 of the General Conditions within ten (10) days.

Date

9/2023

Respectfully submitted:

By

(SEAL -- if bid is by a corporation) Attest: Hellary Stelen (Business Address and Zip Code) * Insert a corporation, a partnership, or an individual

BID